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1.8006366300 x=t*, y= 3t -2t 306033063@0@ 3008833@0 Bools 3b850 Sé%ob 606@)00@36& od
536)00@30, 60083@08 333[}0608360 t=1 3603363@0060[5.

2.03003300 09 60l 0306000060, 60083@03 38300[)08@»36)3@00 r=60+1, 1<0<2, 506)00‘)@&
=1 o 0=2 bboggdoom (I' oo 93(‘0@063@0 JMmE0bHgd00).

3.d90c0g0bg0» 0d bobé@sob 3°bdhmemgoo, 6(’033@03 aocob P(3;4;,-1) 636@0@33
n=-2i+ 3_j: +4k 39960l Botrmmdnmoce.

4.353mmgommgo a=3i-2j+k ©d b=3i+4]+5k 399930l : 0)b30emotnemo 63Gogemo;
%) 39ddhmEemo bo36rogemal JmmGobodgdo; g) Jyobg  39gdhmEgdL dmeal;
©) 3999889 0390 bd Jmbgel ogetcmmda.

5. 9) 03mgge boBocmo 0L LoBdog t 33emoce0l Bocomgdymmo 360dgbgemmdalismgol, oo
65B0cmo 30 dmdEomdl Bmzgdnemo 3mBozeol T (t) 39ddeEob dgbsdodabace:
F(t)=2sinti +(1+3t)] +(t° —4t)k, t=0.
6)03m33m boBocmo 3ob oﬁdoésbo t 33@-&@0[) 3000000363@0 8603363@(*)60[)00030[}, oy boBocmo 30
IendGomal m398yemo V(t) boBdotoom: Vi(t) =2t T +(4—t2) ] +(6t+2t*)K, t=1.

6. 03mg9o Botrols dqLododalio & 3oemob Logédg, o1 8obo 306083@63@0 3obhmemgdos
FU)=B+t) T+2t J+(1-3t) k, 1<t<4.

7. 0308900 f(x,y)=In@6—X2 —y?)+4/X* + y? —16 03nbgi300L gobLodgeral 960l gotronmdo.

8.03m33m of /0x-ols 8503353@0’)60 (-1;1) 636@0@30, oy
flx,y) = 4x3 4+ 8xy? +y — 12.

9.0m f(x,y) =x%Iny +e?*y, 85806 o) df/Ox=...; ) af/dy =...
fi

10.00) f(x,¥) =5x* + 6x3y +y* —10,85306: o) 02f/0x*=...; d) d%f/0y*=...;
a) 0%f/0xdy=...

11.03003300 grad f (1; —2) ,00Y) f(x;y)= x5y2 +X + 2y2 .



12.03mg900 f(X,y) = 2x° +9x* —6xy —3y° —12x+18y ognbg300L : a)emm3oemE080603330ls , b)
0™ 300Y60354Lodydol Bgéhocmo.



